Y¥2110,0<x Wwxo,y= e—ox’ NNIPYN 212'0Nn 72NNnN N9IN NX AWN
NN

NI7'72a0 NI9Y77n Nu'wa

Ay = 211y - by = 2mx e i no'77 7w nnuv

dViy = A dx = 2mx - e~®" . dx : "2 ANLY NY9IN 1N N9 7w NN

 UpIann NN NX 2N [0, 00) DINN2 27X NID'Y77 101K 7Y N'¥I1A0I'R

2 u=-ax* => x=0-u=0 , x=w-ouU=-0
x-e¥.dx -
du = —-2ax-dx
o) —00 0 0
T T T
J —2ax-e ™ -dx = ——f e*-du = — fe" du = — lim Je" du =
a a a b——w
0 0 — b
b1 4 T
— lim e* — lim (e —e?) = — CubicUnits
a b-—o a b-—o a

.a=0.25 7979 9120 anr "nims” qlan nir juE XINY 723 .arn 19on a



